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1. Which of the following statements is/are incorrect with respect to the arrival of

Europeans in Kerala?
(1) The religious policy of the Portuguese in Kerala was liberal and enlightened
(i1) In 1741, the Dutch were defeated by Marthanda Varma in the battle of Colachel

(i11)) The treaty of Sreerangapattanam was signed between Hyder Ali and the English
East India Company

(iv) Paliath Achan, who fought against the English was the chief minister of Kochi
Select the correct answer from the codes given below :

(A)  Only (1) and (i1)

(B) Only (i), (i1) and (iv)

(C) Only (1) and (ii1)

(D) Only (11) and (v)

2. Who is the author of the Cochin State Manual?
(A) C. Achuta Menon (B) K.P. Padmanabha Menon

(C) V.Nagam Aiya (D) T.K. Velu Pillai

3.  Which of the following was not a demand of the Indian National Congress in the

beginning?
(A) Expansion of the Legislative Council
(B) Reduction of military expenditure
(C) Raising of the age limit for the candidates of Public Service Examination

(D) Complete independence to the Indians

4. Which of the following leaders were not associated with Nehru in fostering the

Non-Aligned Movement, one of the basic principles of India’s foreign policy?
(A) Sukarno (B) Chou En-Lai

(C) Gamal Abdul Nasser (D) Marshall Tito
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5.  Arrange the following revolutions in the order of their occurrence.

(1) French Revolution

(i1) Great Revolution in England

(i11)) Chinese Revolution

(iv) Russian Revolution

Select the correct answer from the codes given below :
A4) @, @), (1), v) B) (@), (), (1), @)
€) @), @), (v), (1) D) @, @), av), (1)

6.  Recently, the criminal justice system of India was completely overhauled. Based on this,
which of the following statements are correct?

(1) The Indian Penal Code has been replaced by the Bharatiya Nyaya Sanhita.

(i1) The Criminal Procedure Code has been replaced by the Bharatiya Nagrik
Suraksha Sanhita.

(111) The Indian Evidence Act has been replaced by the Bharatiya Sakshya Adhiniyam.
(iv) The new reform came into effect on July 1, 2024.
Select the correct answer from the codes given below :

(A) Only (1) and (11)

(B) Only (1), (ii1) and (iv)

(C) Only (1) and (i11)

(D) @), (1), (1i1) and (iv)

7.  Name the group of plants that thrive in ice covered arctic and polar areas :
(A) Microtherms (B) Megatherms
(C) Hekistotherms (D) Mesotherms

8. The Type of drainage pattern usually found on maturely dissected dome structures
encircled with alternate weak and hard rocks :

(A) Centripetal pattern (B) Annular pattern
(C) Parallel pattern (D) Radial pattern

9. Advanced Space borne Thermal Emission and Reflection Radiometer (ASTER) is a high
resolution remote sensing instrument associated with which of the following satellite :

(A) Terra (B) Landsat
(C) SPOT (D) Sentinel
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10.

11.

12.

13.

14.

Which of the following statement are correct about the occurrences of Indian Monsoon?

®

(1)
(iii)

Himalayas and Tibetan plateaus act as physical barriers and as a source of high
level heat.

Differential heating and cooling of Asian land mass and the Indian Ocean.
A negative southern oscillation.

(A) Only (i) and (iii)

(B) Only (1) and (i1)

(C) Only (1) and (ii1)

(D) All of the above ((i), (i1) and (iii))

Arrange the following rivers of Kerala according to its length from highest to lowest :

@
(i)
(iii)
(iv)

Chandragiri

Chaliyar

Pamba

Bharatapuzha

A) @), Gv), (), (111) B)  (v), (1), (D), ()
©) (@), (), (1), (iid) D) Gv), (1), (@), (1)

Who secured three accolades in the 66t Grammy award for global music performance?

(A) Ganesh Rajagopalan (B) Sankar Mahadevan
(C) Uztad Zakir Hussain (D) Rakesh Chowrazya

Which is the wrong statement related to Planning Commission in India?

(A) The five-year planning commission was replaced by NITI Aayog in the
year 2014

(B) Green Revolution was implemented during the first five-year plan
(C) 1966-69 years were plan holidays for the Indian economy

(D) Mahalanobis model was followed in the second five-year plan

Operation flood is related to :

(A) Increase irrigation facilities
(B) Increase marine fish cultivation
(C) Increase inland fish cultivation

(D) Increase milk production
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15, —————is the maximum limit of GST rate set by the GST Council of India.
(A  40% B) 12%
(C) 18% D) 28%
16 ——————— was founded in July 1948 under the Industrial Finance Corporation Act

of 1948, with the primary goal of providing long and medium-term financing to big
industrial firms.

(A) IDBI (B) ICICI
(C) IFCI (D) SIDBI

17. The maximum area of land used for cultivation in India is used for the cultivation of :
(A) Wheat (B) Rice
(C) Sugarcane (D) Cotton

18. Pancheshwar Multipurpose Project (PMP), sometimes seen in the news, is a bi-national
hydropower project between which two countries?

(A) India and Bhutan

(B) India and Bangladesh
(C) India and Afghanistan
(D) India and Nepal

19. What does Art.17 of the Constitution of India relate to?
(A) Abolition of Untouchability and prohibition of its practice in any forms
(B) Equality of opportunity in matters of public employment
(C) Protection in respect of conviction for offences

(D) Right to elementary education

20. Which of the following statement is /are correct about the preamble of the Constitution of
India?

(1) By 42rd Constitutional Amendment Act four new words - Socialist, Secular,
Democratic and Integrity - were added

(11) Preamble is based on the ‘Objectives Resolution’ moved by Jawaharlal Nehru in the
Constituent Assembly

(i11) Supreme Court held that the Preamble can be amended by the parliament but
without destroying the ‘basic structure’ of the Constitution

(A) Only () (B) Only (ii) and (iii)
(C) Only (ii) (D) All (i), (ii) and (iii)) are correct
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21.

22,

23.

24.

Which of the following statement is/are correct about the Election Commission of India?

®

(i)

(111)

Election commissioners hold office for a term of six years or until they attain the
age of 62 years, whichever is earlier

Elections to the Panchayats and municipalities are conducted by the State Election
Commissions

The chief election Commissioner and the other election commissioners enjoy equal
powers and draw equal salary

(A) Only 1) and (i1) (B) Only (11) and (111)
(C) Only (1) (D) All (), (11) and (i11)) are correct

Pick the wrong statement regarding the Comptroller and Auditor General of India

(CAG) :

(A) The CAG can only be removed by the Prime Minister of India on the same
grounds and also in the same manner as a judge of the Supreme Court can be
removed

(B) The CAG hold office for a period of six years or upto the age of 65 years,
whichever is earlier

(C) The CAG audits and report on all expenditure from the Contingency Funds
and Public Accounts of the Union and of the States

(D) The CAG audits and report on the receipts and expenditure of Government
companies

The Central Government law/Scheme that was unanimously struck down by the
five-judge Constitution Bench of the Supreme Court on February 15, 2024 as the bench
found the Law/Scheme to be unconstitutional :

(A) The Fiscal Responsibility and Budget Management Act, 2003
(B) The Prevention of Money-Laundering Act, 2002

(C) The Electoral Bond scheme that was introduced in the Finance Bill, 2017
during Union Budget 2017-18

(D) The Agnipath Scheme brought in by the Central government in 2022

Which of the following statements is/are correct about the State Human Rights

Commissions?

(1) The commission cannot inquire into an act of Human Right violation after the
expiry of one year of occurrence of that act

(i1) Though appointed by the Governor, the chairperson and members of the
Commission can only be removed by the President of India

(i11) The Commission does not have the power to punish the violators of Human Rights

(A) Only ) (B) Only (1) and (i1)
(C) Only (11) and (i11) (D) All (@), (i1) and (i11)) are correct
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25.

26.

217.

28.

29.

Which of the following statements is/are correct as per the Census of India 20117
(1) Most densely populated district of Kerala is Ernakulam
(i1)) Women outnumbered men in all districts of Kerala except Malappuram
(111)) Kannur district has the highest sex ratio in Kerala

(A)  Only (3) and (i1) (B) Only (i1) and (ii1)

(C) Only () and (ii1) (D) Only (i11)

Which of the following is/are true regarding the literacy rates in Kerala as per the 2011

census of India?
(1) Thiruvananthapuram has the highest literacy rate in Kerala
(i1) Idukki has the lowest literacy rates
(111) The literacy rate of Kerala is 86 percent
(A) only (i1) and (iii) (B) only (i) and (ii1)
(C) only (1) (D) none ((1), (i1) and (ii1)) are true

Which is/are true about Vayomithram project implemented in the State of Kerala?
(1) It caters to the elderly people who are above 70 years of age residing in rural areas
(11) The project started functioning in 2017
(111) There are no economic criteria for availing services under the project
(A) only (i1) and (ii1) (B) only (iii)
(C) only (1) (D) none ((1), (i1) and (ii1))

The scheme for Differently Abled people run by the Government of Kerala :
(A) Swasraya (B) Mandahasam

(C) Pariraksha (D) Samanwaya

The name of the Android App launched by the Government of Kerala aimed at

diagnosing and controlling lifestyle diseases among the people in the State of Kerala :
(A) Koode (B) Aardram
(C) Shaili (D) Arogyam
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30.

31.

32.

33.

Who headed the Supreme Court bench in the Vishaka and Ors. V State of Rajasthan
(1997) that delivered the landmark judgement dealing with sexual harassment at the

workplace and provided guidelines to deal with?

(A) Mr. Justice R.M. Lodha
(B) Mr. Justice J.S. Verma
(C) Mr. Justice Dipak Misra
(D) Mr. Justice Ranjan Gogoi

Which part of the Constitution of India empowers Parliament for the establishment of

administrative tribunals for adjudication of disputes related to the service of persons

appointed to public services of centre and states?

(A) Part XI-A
(B) Part XIII-A
(C) Part XIV-A
(D) PartIX

Which of the following statement is/are wrong regarding the Right to Information Act,

2005?

(1) Information sought may be refused by Public Information Officers if disclosure of
such information could lead to incitement of an offence

(11) Public Information Officers are required to give information within 48 hours of the
receipt of request for information if the information sought concerns the life and
liberty of a person

(111) Citizens belonging to Below Poverty Line (BPL)are exempted from the payment of

basic application fee while seeking information under the Act
(A) only (11) (B) only (1)
(C) only (111) (D) none (1), (i1) and (1i1)) are wrong

The percentage of area under forest in Kerala as per the land use data, 2022-23 of the

Department of Economics and Statistics :

(A) 14.06 percent (B) 36.90 percent
(C) 19.74 percent (D) 27.83 percent
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@zﬁezﬁd Beste0e003) :

(A) 3Beswe 14.06 (B) 3Besmo 36.90
(C) Bewweo 19.74 (D) Beswo 27.83
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34.

35.

36.

37.

38.

The Mahatma Gandhi National Rural Employment Guarantee Act, 2005 (MGNREGA)

mandates which of the following?

(1) The Gram Panchayat Secretary is the registration officer under Mahatma Gandhi
NREGS.

(i1) Providing not less than Two Hundred days of unskilled manual work as a

guaranteed employment in a financial year to every household in rural areas
(1i11) Hundred percent implementation of the Scheme is at the Gram Panchayat level

(A)  Only (11) (B) Only (iii)

(C) Only (1) and (i1) (D) Only (1) and (i11)

Pick the wrong statement about the Kochi Water Metro Project :

(A) Diesel boats used in the water metro project are manufactured by Cochin

Shipyard Limited
(B) Kochi, is India’s first city to have a Water Metro Project

(C) Kochi water metro project plans to connect 10 islands along a network of

routes that span 78 kms benefitting over 33000 islanders

(D) A major part of the project is financed under Indo-German Financial

Cooperation with a long-term loan agreement of 85 million

In which place was the International Labour Conclave organised by the Government of

Kerala, from May 24 to 26, 2023.
(A) Ernakulam (B) Kannur
(C) Palakkad (D) Thiruvananthapuram

What is the scientific name for the Adam’s apple found on the throat?
(A) Larynx (B) Trachea

(C) Epiglottis (D) Oesophagus

Which Vitamin is synthesized by bacteria in Human body?
(@A) VitD B) VitC
© VitK (D) VitE
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mm@g) 7508 oa%eoda ReLece  eVERen 83080 Foods, 2005 (MGNREGA) 3¢083nee)
0300EYTIDY, FEEYORTIRPTOBLS?
(1) opsd  Wmoeods®  FeadbESdeadn abm@%moa NREGS e&obe  Ssweeocsed
©8T080370NTOST.
(1) rE&ecd  PIeBE T[S SIS w0TH  BHFF  BTRETY  0dad  VTRETEN
YARD OTPN0T FREDOWPE TPBOTET FOW0E 3R FOTEID), WBHVEIHT
(ii1) cdeeesSod DTt TRCTER) LISy MY T[0L5RANTE IO,
(A) (i) 0og (B) (i) &0eg
©) @) ==y (ii) &g D) (i) o=y (iii) s

&.raaz%, o8dof e?bé&@e 032023303 aor?) ooy 6@@93013@1 e300,

(A) =808 epe adeewdody) wTICUDE B TdeecdniTy dpdn® Bt adce
DDETO 0T SOIWOTEIVSTS

B) ajaaz%, sobio® 8@e adeeesSodaly BROEDTE LPTBE EBREY BTN

(&) ifaag o83of eo8re adeedado 33,000 ﬁf% aa’aag %@ﬁm?’vﬁ@?ﬁ CODTRVOTV0S
78 8.80¢. 30T BROET 2POTY 10 QTR Foessemen odeeeddics

(D) odeeesdod  Tewe  RNEY  [OWRE—WBEVED®  TCOTOR ITZO0E @D
85 Q0Dahn® EeEFRreSEIod TPV 2BOCSERORT TETORY 2BHTLRATS

e 24 B0 26, 2023 T30 0¥ IForCey O30S IR [obioPTuERse®  Seeac®
FooPE® eonly esadeeeddizy?

(A) SDEBD0 B) Eewcaado
(®)) m@agwe (D) 8hemos=000

DOLIOT S8 oS STIRFT ST 3 BRSeRd?
(&)  e00s (B) tpsaim
©) DTS D) L.RpeBercd

0T TeBEY 30T DBQTE T LFOOIORT ToBEATOVTES?
(A) DB & B) DB »
C) DB 3 D) DES 3
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39.

40.

41.

42.

43.

44.

The Vector organism for Leishmaniasis is :
(A) Mosquito (B) Rat
(C) Pig (D) Sand fly

The Kerala government health department launched the ‘Aardram Mission’ with the

objective of :
(A) Expanding medical tourism in the state
(B) Making government hospitals more patient friendly
(C) Encouraging private healthcare investment

(D) Promoting traditional medicine practices

Which of the following is not a characteristic of Type I-Diabetes?
(A) Abnormal Carbohydrate Metabolism
(B) It is Insulin Dependent
(C) Itis an Autoimmune disorder

(D) The patient will be reliant on exogenous Insulin

The concept of ‘planetary boundaries’ refers to :
(A) The limits of human population growth
(B) The critical thresholds for environmental sustainability
(C) The potential for colonizing other planets

(D) The economic costs of environmental protection

Artificial Intelligence (Al) is rapidly evolving and impacting various fields. What is an

example of a potential application of Al in healthcare?
(A) Providing emotional support through chatbots
(B) Assisting doctors in analysing medical images for faster diagnoses
(C) Replacing the need for human nurses in hospitals

(D) Automating administrative tasks in healthcare facilities

Space debris is a growing concern for satellites and spacecraft. What is the ISRO project

on space debris?
(A) Netra (B) Gaganyaan
(C) INSPIRES (D) Astrosat
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39. @ezzec‘i)oi)a?v‘m"eobﬁgl TORS 2306) :

@) Reg ®) @2
(C) =& (D) ooz P 3

40. 3e0¥ TTEOD eV [YORa30dD WTREEIF VTS ) B8 YVEIEBR0TI TRTOLABY
(A) Cowe) e3r3Bead sTeIoRRLEEESTY DTOREIHT)
(B) ®5ord esgBries) e deed edoodmg ) s30T
(C) s0oxn) esBeery; Smab TRRFADTY BReTYERIEHTD
(D) o0osTeoE TR wg@ﬁ%ﬁ@z VBT

41. 3ITOTYTPY adeeyed &s0° [ — BosweddITeS VFEBEIY?
(A) e Toedperagdet® e30dmenesod
B) > ‘&cﬁ()o@as 95302 BE30NT
(CO) I estleemeluem® BT od
(D) Breedodn 2w (aag)@as 2008 92300298 TNTHTS

42. ‘©y38I0 2P0EOe’’ Y TOFY[o0 [T LVGLDTTC.
(A) Boss wER0sdd 3eaErdned 8ns
(B) =30R0 12BN demoraby DS
(C) =330 0T STTB) BI0EES JOIFYE
(D) =360 Soogmh eHEE s3eEred

43. g7 N (AD) Sereen DsRDRRWEn Ty DA FeInY e TO@DH Wedh3.
esBpery OgBabe) Al ab Rogmwesy e9hEesnts eremon OT?
(A) 23R’ NT sROT ¢BESTgE 2300 2TINRIIT
(B) Benm  demidcerabmn  s3ggdeod  eSTneR),  OBeRbE)  S$mor  Koeod
SIVTIEYT
O «IZOPY ST TSI WNgEsD), EIBVEITD
(D)  esBeeryy FPONPY ©EPTHTYE FADENFT) FohoeROSARPIED

44. 2OTRFOD IR YVTTHOW 0T LRTYTOZ TN BeHETES FoFRaIRN. 250TYTeS
©538¢R0Y 8008 JJEe 0deees OT?

A) Se= (B) nnctainms
(C) oot (INSPIRES) D)  esBcmmte
) A &
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45.

46.

47.

48.

49.

50.

What would be the weight of an object on the surface of moon, if it weighs 196 N on the

earth’s surface?
(A) 35N (B) 98N
(C) 33N (D) 100N

A loaded cab of an elevator has mass of 2500 kg and moves 250 m up the shaft in 50 sec
at constant speed. At what average rate does the force from the cable do work on the

cab?
(A) 1250 W B) 100 W
(C) 1000 W (D) 125 kW

An ambulance with a siren of frequency 1000 Hz overtakes and passes a cyclist pedaling
a bike at 3 m/s. If the cyclist hears the siren with a frequency of 900 Hz after the

ambulance is passed, the velocity of the ambulance is :
(A) 41 m/s B) 45 m/s
(C) 35m/s D) 50 m/s

Which space agency launched the INFUSE Rocket mission?
(A) Russian Space Agency
(B) Indian Space Research Organisation
(C) National Aeronautics and Space Administration

(D) European Space Agency

If X diffuses 10 times faster than Y, what will be the molecular weight ratio X : Y?
(A4) 10 (B) 1/10
(C) 100 (D) 1/100

Among the following equimolal aqueous solutions, the boiling point will be lowest for :
(A) BaCl, (B) NaCl

(C)  Ca(NOy), (D)  La(NOy);
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R0 &30S woﬁaeg 196 N @,0%c38, e30s a3oeed woﬁae?)dow STRIT BT &T)?

(A) 35N (B) 98N
(C) 33N (D) 100N

O3PS Sreece® SeEeRE For® 2,500 .22 TEES0e80hR) BeodT Y "gd Seree)
50 RBowFrive) zosFA0m 250 e e ORI, BT WY FRIPTY Y TORTO
TOED) BT &0BBL?

(A) 1,250 W B) 100 W
(C) 1,000 W D) 125 kW

esssee™ 1,000 Hz & 3230’56‘ TBROTID esowédaf), 3 m/s 6&2 23656 B@eF BPR ﬁé}%oesg e,
Eooaﬁggcﬂ BB TOCNIBRETVST. esoaw?sefaf) e, TRV ©0ST ﬁééasg 900 Hz
e9EIBEDTIR0T a'?édae @.963@l FePTIT, @owédaf)ﬁ 23 :

(A) 41 m/s

(B) 45 m/s
(C) 35m/s
(D) 50 m/s

03e3 230TREed8 ToZ INFUSE oot S0sin® e, sps0eddizd?
(A) OB wooyEed "N’o;b;
(B) 2008e0d eomeEes SoBReETve TOJ
(®)) m%@oﬁa DB ReDoEIF 0B WoTFes RIS
& o -
(D)  adodeeobn Fest DR

X, Y Aoz 10 m@;&% Beneed) BORTT, X: Y @39@5 BRTE HDIEOD @mes?

@A) 10 (B) 1/10
(C) 100 (D) 1/100

FSOT Ss3E3eeene® wOeod wRESINTE) alsyd B30 D0TEY) TR JITLI?

(A) BaCl, (B) NaCl
(C) Ca(NOy,), (D) La(NOjy),
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51.

52.

53.

54.

The United Nations proclaimed 2025 to be the International Year of

(A)
(B)
(©
D)

Millets
Water Cooperation

Quantum Science and Technology

Periodic Table

Which aqueous solution is most acidic?

(A)
(B)
(©
D)

0.5 M NaNO,
1 M K,CO,
0.1 M FeCl,
0.01 M NaCN

Which among the following is correct when considering the Olympic Order Award of the

International Olympic Committee (IOC) ?

(1) The highest award of the International Olympic Committee was awarded to
Abhinav Bindra, the Shooting legend of India for the year 2024.

(1) The Olympic Order has been awarded to him during the 142rd International

Olympic Committee session in Paris.

(A)
(B)
©)
D)

Only (i)

Only (ii)

Both (i) and (ii)
Neither (i) nor (i)

Chronologically arrange the following Malayalam novels with their years of publishing :

1 Chemmen - Thakazhi Sivasankara Pillai
(11))  Ballyakalasakhi — Vaikom Muhammed Basheer
(111) Odayil Ninnu - P. Kesava Dev
av) Ummachu - Uroob

A) @), (1), @), (v)

B) (1), (1), Gv), ()

(©) (1), @),01), Gv)

D) @, (), (D), @v)
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@g&’oa);odw 2025 ————— © ©030008e0d) TSI UL,
&
S
B) edx mmTT
(C) 908l Dpm DB BOSLVD
3 =g — oy
(D) esweET ifaeagé

03e3 22dead TpE3Eesy) e esEdeaDeoRncs?

(A)
(B)

(©
D)

0.5 M NaNO,
1 M K,CO,

0.1 M FeCl,
0.01 M NaCN

@oa—omégeob D058 T8oH (IOC) 2Dos®  esw@roP TR, SOnedTer B8
&
FBOTYNFY) A3eyTH TOAIWATI?

()  eozooveAD 2005 TW8H wBRT TINoDY, 2024 T esess Betdor® Sedoce®
=

2DV 2003p 983078 Ve

(i) 0T SBS 142 e @o&@%@oﬂ; 2.D0T TS WHPBTEY) 3073 2.0
=]
e5T3eBeIY, VBSOS,

(A)
(B)
©)
D)

(1) =og

(ii) =g

(i) s>y (ii) 0@

(i) =3 (ii) Do @

83 IPAT DOBRP0 FTOVOTPR) WP FFEIF0D 3T TER0DT FTOTFeIN) e

(1) a@ds@ae - 859 D00 e?o% 3
(1)  2PYFOTD - a"é&@aﬁ wmaa@ae 209e08
(111) B A=Y - . TS T3’
@1v) emma@a?o - VT®
A) (@), (), @), av)
B) (), (@), Gv), (@)
(C) (), (W), @), Gv)
D) @, (1), (1), av)
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55.

56.

57.

58.

Which of the following is correct when considering Kathaprasangam, the Malayalam
storytelling?

(1) 2024 is the centenary year of Kathaprasangam.

(1) C A Sathyadevan was the progenitor of Kathaprasangam with Chandalabhikshuki
of Kumaranasan as his first theme

(i11) The first venue for performing the new art form of Kathaprasangam was a school
opened by Kelappanasan at Vadakkinppuram near North Paravur.

(A) Only (i) and (i)

(B) Only (ii) and (iii)

(C) Only (i) and (iii)

(D) All (i), (i) and (iii)) are correct

Match the following List A (Film Directors) with List B (Malayalam cinemas with
Muslim Culture) :

List A List B
(a) T.R.Sundaram @) Maniyara
(b) M. Krishnan Nair (11) Kandambecha Kottu
(¢) P. Bhaskaran (1)  Kuppivala
(d) S.S.Rajan @1v) Thurakkatha Vathil

A4)  (a)-(id), (b)-() (¢)-(1), (d)-Gv)
B)  (a)-4i), (b)-@), (¢)-(v), (d)-(ii1)
©)  (a)-(ib), (b)-Q), (¢)-(v), (d)-(1)
D) (a)-Gi), (b)-(iiD), (¢)-(), (d)-(v)

Who wrote the Malayalam book, Padeniyude Geevathalam on the art form of Padayani?
(A) Kadamanitta Vasudevan Pillai
(B) Kadamanitta Ramakrishna
(C) R.C. Karipath

(D) Kavalam Narayana Panikkar

Which among the following is not correct when considering Indian Hockey?

(A) Sansarpur in Jalandhar district (Punjab) is known as the nursery of Indian
hockey

(B) A hockey player turned politician Aslam Sher Khan became the Central
Minister for India

(C) The height of the blackboard of the field hockey goal is 26 inches

(D) Mariyamma Koshay was the first Malayali to become the President of Hockey
India
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FHOOIET0 TG TeTES FEHO[BTO0 DY, FONLIRERT B FBATEINPY) 03i0ecd TOZATS?
() 2024 FcRTIONS BTeI08RET3 SITE
(i) C.A. S5cdesn® Be3RoTOTN®  BoEOLTBADTY TFY BREO TN FHBHOND
ERDTOTVER.
(iii) FPOTTONOS BRI TO® TFVTSY, FTEIETLD BRTV "N;@ﬁa"odd TBID® TCeFR0® 0PI
SBIDETITOTY Fewspoocnt S0m oS,
A) O =y (1) =g
B) (i) o=y (iil) g
©) (@) ==y (iii) s30g
D) (@), (1) o=y (iil)) oYsFe TO3PAT

PO =83 A (Bokiz ABerTFAD) @9, =& B (300 &‘o&;’e)\%o&raoaﬁ FOO03RP0
238e00RTNR) 03,0087 B :

ﬁég A m@g B
(a) €3.e508. ®0T3TO (1) &edods
(b) &o. %&;&6 Rplevbien) (11) 50{3023?5 ifaéﬁgs
() . 2;@&;656 (111) B
d) oT.oF. Coud (iv) BoEYE SR

A)  (2)-@1), (b)-@) (0)-(1), (d)-(v)
B)  (a)-), (b)-1), (¢)-(v), (d)-(111)
©€) (a)-(1), (b)-Q), (¢)-(v), (d)-{1)
D)  (2)-), (b)-(11), (¢)-Q), (d)-(Qv)
SWaed T TFoor ¢S DY FTIJF TRV HEEIBO0 O 203c3e300 0330007
(&) @B sorITIET D¢,
(B) 3@k oosvzEg
(C) es0S.. 30038
(D) wowe0 mesRadee aeégcs

208e0d TOIODH), TR Bt ISATIRPE) B3I FOPA?
(A) wooEos  HBedoh  (Towmeed) ROROSTIOSR)  EC8ead OIOH  DIEO 0T
3BabeRrdEe

(B) o8 estdreCoed  Towsescdadied o) ePo  Beo®  aed®  gRUSE
Fe0TS IS0

(C) ek o3 BeeedS Fay T Ty 26 [ordTwd
(D) 2008 Tesed SR eH0eY FWATB0ES vleloveinsf Bezoad®
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59.

60.

61.

62.

63.

64.

Which of the following was the motive of Prisha Tapre, the teenage swimmer of
India and UK to cross the famous English Channel recently?

(A) To raise funds for building a school at her father’s home village in
Maharashtra

(B) To raise funds for a charity organization to provide food for needy children in
India and UK

(C) To propagate harmony among various religious communities all over the
world

(D) To create awareness against intoxication and substance abuse

Small and very fast memory that is placed between CPU and main memory :

(A) ROM
(B) CACHE
(C) BUS
(D) USB

Which of the following is not a system software?
(A) Firefox
(B) Unix
(C) Device driver
(D) None of these

An example for an empty tag in HTML is :

(A)  <html>
(B) <img>
(C) <body>
(D) <b>

Who is known as the “Father of AI"?
(A) Fisher Ada
(B) Alan Turing
(C) John McCarthy
(D) Allen Newell

The official website for chatgpt is :

(A) www.openai.com

(B) www.gptchat.com

(C) www.chatgpt.com
(D) None of the above
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md@ﬁr@, QO30T SWIENS QorYesa® ma"@aigl obdcs &dexdeest BsenrRdralng Lz soghod
engezﬁ :
(A) a&mmag)cﬁ Ty, To@ab T RN ToSoHR),  QSNEIL0 GO
BOTRRIEITH
(B) 08 b3y 0t ohY) engdddEs a&i@ﬁ eST/OTRID)Y,  LTOTLY 230083 as‘oa;ﬁ
QEODR), TOTGRREIHTD
(C) BB0eIcRTs;08 T3 GRET TeINTRONNY BB TREVTIEID), F3FT e3VBIEIHTD)
D) SEES B BREF Ty JeeSSaD &d)zg eS8 SRR

CPU a3) s30ay; e3zde0odh S@es YORRNTIE By @) ©goe s8R0 :

(A) ROM
(B) CACHE
(C) BUS
(D) USB

BSATYREY eI AFSF Toepfsecs eoey?
(&) FHooees,
(B) abods®
(C) &3r® Bas0d

D) IPYNPD adegye @

HTML ©¢) 208 &mers evmeasos :

(A) <html> (B) <img>
(C) <body> D) <b>

Al o &8 &0t 037008y, F303083?
(A) HTO® wme (B) oot &gdor®
(C) 2on® SREeTRE (D) ©F® SB3¢°
chatgpt o0 @& 3ePZES !

(A) www.openai.com

(B) www.gptchat.com

(C) www.chatgpt.com
D)  BoedTeYNwe) odmeeyse @
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65.

66.

67.

68.

Find out which of the statements are correct :

(1) According to the Consumer Protection Act 2019, the district Commission has
jurisdiction to entertain complaints where the value of goods or services is less
than twenty lakhs

(11) The provisions for guardianship under the Rights of Persons with Disability Acts
2016 is for permanent nature of guardianship

(111) Under the Protection of Women from Domestic Violence Act 2005, a woman in a
domestic relationship shall have the right to the shared household if she has any
right, title, or beneficial interest in it

(iv) The chairperson of the Kerala State Commission for SC/ST shall be nominated
from among the members of SC and ST

(A) All statements are correct
(B) Statement (iv) only is correct
(C) Statements (i1) and (iv) are correct

(D) Statements (i), (i1) and (iii) are correct

Who is the first Chairperson of the National Women Commission of India?
(A) Mohini Giri (B) Vibha Parthasarathy
(C) Jayanthi Patnaik (D) Dr. Poornima Adwani

Find out the correct options from the following :

(1) The special courts created under SC/ST (Prevention of Atrocities) Act 1989 have
the status of High Court

(1) A childless senior citizen has no right under the Maintenance and Welfare of
Parents and Senior Citizens Act 2007

(111) No party has the right to legal representation before the Maintenance Tribunal

(iv) The Administrative Tribunal was established according to the 42" Amendment of
the Constitution

(A) All the statements are correct
(B) Only statements (1) and (ii) are correct
(C) Only statements (i11) and (iv) are correct

(D) Statements (i1) and (i11) are correct

Who is competent to issue a Certificate of Identity for transgenders?
(A) District Medical Officer
(B) Chief Medical Superintend
(C) Any Civil Surgeon
(D) District Magistrate
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(1) BeexET ﬁ@?sz.:a 03 300 TNOFT TS 2007 T eRabY) 0TPYH 0adh DT
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(ii1) AsIETFD DYOREIOBRAD X003 ITVEIHTe e TORAT TRSIGFE TBIY TBRODY.
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(A) ooy e TOTRAES
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69.

70.

71.

72.

73.

Which of the following statements is correct?

(1) A person who purchases goods for consideration and uses them for commercial

purposes is not a consumer

(11) A child who is found vulnerable and is likely to be inducted into drug abuse or

trafficking is considered as a child in need of care and protection

(111) The minimum punishment provided in IPC for causing grievous hurt by the use of

acid against a woman is seven years

(iv) The Untouchability (Offences) Act was renamed as SC and ST (Prevention of
Atrocities) Act 1989

(A) Statements (1) and (ii) are correct
(B) All statements are correct
(C) Statements (1), (i1) and (iv) are correct

(D) Statements (i1), (i11) and (iv) are correct

Every person with a benchmark disability has the right to free education upto the age of :
(A) 14 years (B) 18 years
(C) 21 years (D) 16 years
A grocery store raises the price of a loaf of bread by 25%, then lowers the new price by
25%. What is the final price of the bread compared to the original price?

(A) The same as the original price (B) Higher than the original price

(C) Lower than the original price (D) Cannot be determined

If you multiply a positive fraction less than 1 by itself, the result will be :
(A) Larger than the original fraction
(B) Smaller than the original fraction
(C) Equal to the original fraction

(D) It depends on the specific fraction

A regular hexagon is inscribed in a circle with radius 6 cm. Find the area enclosed by the

hexagon :
(A) 1843 cm? (B) 3643 cm?
(C) 5443 cm? D) 7243 cm?
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69. S 39AT T BedERT FOIPAT?
() wDOreRs RoBTTR) OB ) Eerdey CVEEBRIMA WIS FFOI MEIBITY

(1) THVFEEATE DT WRTT TSy IS Wi é@gmﬁﬁﬁ PTRES  JgBoTVES
0T0ESY, esT;B0d T dga“’aoi) VNFETE &7 20T BOTEBTSr BT,

(111) 08B é’bdoc(g e 20980000 FHeeTsserm HeodEss), evothserieymn IPC 0de)
WEOVRE FU dgodn O SRENT.

(iv) @3%556 (©:80053%d) Feczdabaly SC &3y ST (CPwrsSne 3d) sooad 1989 &och
EOTDOEVTOED  &370BLOONT).
(A) BePBned (1) 02 (i1) TO3PAES
B) ooy DBedrisdh TOTRAES
(C) V3 (1), (1) 02y (iv) TOA3TNS
(D) BePdisd (i1), (iil) &0 (iv) TOA3RAES

70. SPITOB/E  WONEFY;  TRODTE @@cﬂ:aza% &80 wosa@)mdﬁ o3 338@(5 5%&121

BRODTITVS.
(A) 14 300 (B) 18 =3ab)
(C) 21 3oy (D) 16 =[ab)

71. 30ved eorRodn PEPS WBSaba 25% O) W3, Sovs B WSuhDy 25% T TR
BRI, Bwew BSH BROITT Pats ©0ded B5S 0sY?

A) = LBeSadoldade B) Swo 33808 %aéaﬁcb
(C) e BSHos TR (D) I OTCer )Y

72.  Qexy oogs genessy 1 §os 3B TOedASS, HOT0Bey 2oeNTIBTI.
(A) e PJTedHos dfazgcb
B) e PJTedH0s asgmﬁd
(C) e PTYTedn [eoNT
D) 3D AT P TBADTY ©E302DATIBECI

73. 20TH ToERT RERPFBLT) FFEY 6 Jodve. cieodn FeN. E)F8oN
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(A) 18V3 cm? (B) 363 cm?
(C)  54+/3 cm? D) 7243 cm?
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74.

75.

76.

71.

78.

79.

80.

A company sells a product with a marked price of ¥ 120/-. They offer a 15% discount and
another 10% discount. What is the final selling price?

A) T84 (B) %918
(C) T96.7 (D) T 102

A car travels a certain distance at a speed of 60 km/h. If the same distance is covered at
a speed of 80 km/h, the time taken is reduced by 1 hour. Find the distance traveled.
(A) 120 km B) 160 km

(C) 200 km (D) 240 km

In a geometric progression, the 5% term is 16 times the first term. Find the 7t term if
the first term is 2 :

(A) 128 (B) 256
(C) 512 (D) 1024

A company assigns employee identification numbers based on a complex system. The
first digit represents the department (1 - Sales, 2 - Marketing, 3 - IT, etc.), the second
digit signifies the employee’s seniority level (1 - Junior, 2 - Mid-Level, 3 - Senior), and
the last two digits are a sequential number starting from 01 for each department and
seniority level combination. Identify the employee with the most experience if the
following IDs are observed.

(A) 1203
(B) 2110
(C) 3305
(D) 2308

If 20% of a number 1s 35, what is the number?
(A) 100 B 175
(C) 150 (D) 200

If you are facing east and turn 270 degrees anti-clockwise, in which direction are you
now facing?

(A) North
(B) South
(C) East
(D) West

Solve the inequality : —3x <15

A x>-b5
B) x<-5
C) «x>5
D) x<5
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2,0 FOBOTD 2,060 eV T 120/- 0% 1T 3S0e0ET STl SPBTE. s
15% Badcd 03y JBRoed 10% Sadecddabs) Qezns. e08eh 300t 38 w)?

A) T84 (B) %918
(C) T96.7 (D) % 102

FOOD 2000 &')&Fag drao’wdgz 60 3.8e./030. ﬁeﬁzﬁe{?} 23ITOTC3. eTde zﬁfadwcdgz 80 3.8e./030.
BT FELATIS, éﬁcﬁa&mﬁ;ﬁ Jeoodey 1 708 FRHIRrvSE. @ojaac%?vcj T3R0Sy
FOBIRROB.

(A) 120 8.80e. (B) 160 8.Qve.
(C) 200 8.8 D) 240 8.&o¢.

239,080 TS, 5 B¢ 8e3¥r L[emode 8EFrs 16 20l Bemolde e 2 @ﬁcﬁaé
7 &33Py, F0t8RBONB.

(A) 128 (B) 256

(C) 512 (D) 1024
T0BeEDE agw;goja 55000 830¢3 F0e3V000 VW RET THTVET ToZHITRY, Va3 eedDTR. Secw
903030 &mﬁw@l TEIYTZE (1-e3500083, 2-s35For®, 3-IT, 'aré‘c)?@), QOB3C 903030
VTEREND  0BTHT e8IeITY KeesHTH  (1-2edabod, 2-ged TS, 3-%00D), T
BRBONTD PTB @08 B8 [Ywesds 01 00 ET0IERrves TFED J083; 08 208
&I Foodeens, IEAT 1D NP MedNAES el eomdedss FBeodTres YVTiaeNobsy roTodd.

(A) 1203 (B) 2110

(C) 3305 (D) 2308
2,000 Tosdod 20%, 35 e;eﬁzgd, e T8l SOT?

(A) 100 (B) 175

(C) 150 D) 200
ey masg 33080 mmgrgd 0y 270 &5 @@dé@ﬁdw@ﬁ SDATS, esy) B3 03503
&%ﬁ 08 mc&@%ee?

(A) eveo B) dgca

(C) sesse (D) =g

TESTRTB0Y, BOBOD : —3x <15

A x>-5 B) x<-5
C) x>5 D) x<5
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81. A group of eagles is called :

(A) Convocation
(B) Parliament
(C) Council

(D) Headquarters

82. Find out the compound noun :
(A) Blockhead
(B) Brainwash
(C) Ice-cold

(D) Grass-fed

83. Antonym of the word “lasting” is :
(A) Perpetual
(B) Momentary
(C) Infinite

(D) Eternal

84. Which is the correct spelling?
(A) Leiutenant
(B) Leuitenant
(C) Leftenant

(D) Lieutenant

85. When does the class commence? The meaning of the word “Commence” is :
(A) end
(B) continue
(C) conclude

(D) start



86. Add prefix and suffix to the base form ‘believe’

(A) enbelievable
(B) forbelievable
(C) unbelievable

(D) onbelievable

87. What does the term ld est mean?
(A) thatis
(B) for example
(C) for reference

(D) for sure

88. Give the synonym of the word ‘abundance’ :

(A) little
(B) meagre
(C) plenty

(D) scarce

89. We are eager to get on in life. The meaning of the phrasal verb ‘get on’ is :

(A) progress

(B) fail
(C) ruin
(D) fall

90. Mary is a good student. I like her
(A) Childish
(B) Childed
(C) Childlike

(D) None of these

nature
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